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(a)  (DC) 
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L2 θ

L2 = K2θ

K2

L1 L2

L1 = L2θ K1I = K2θ
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I = Kθ
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(b)  (AC) 

    R P
 

v 

       

T  

    ( )
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P = I2R

I = IMax sin(2π t /T )

P = 1
T ∫

T

0
R(IMax sin( 2π t

T
))2dt =

RI2
Max

T ∫
T

0
(

1 − cos( 4πt
T )

2
)dt

=
RI2

Max

T
( t

2
−

T sin( 4πt
T )

8π
)

T

0

=
RI2

Max

T
⋅ T

2
= RI2v

2
= RI2

rms

IMax Irms

Vrms

Irms

Vrms =
VMax

2
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Irms =
IMax

2
= 0.707 ⋅ IMax

VMax Vrms
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Rg I
If

Rg ⋅ If = (I − If )S ⇒ S =
If

I − If
× Rg

0.707( ∼ 1/ 2)
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 (Cathode ray tube, CRT) 
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R = V
I
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2.  

3.  

A.  

1. R1 R2 R1 R2  

2.  
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4. (< 10.0 V)  
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%
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3. 60 Hz
 

4. 60Hz ~ 1MHz
 

 

1. BNC-BNC CH1  

2. 1.00 kHz  

3. / VOLTS/DIV / TIME/DIV
1-2 70%  

A.  

(a)  

1.  ( )  

2. /  VOLTS/DIV  ( )  

3. = × / VOLTS/DIV  

4.  

(b)  

TDS 2022 

1. CURSOR CURSOR  

2. CH1  

[ ] 1 2  

3. CH1 CH2 /  

4.  | |  

5.  

GDS 1152A-U 

1. CURSOR CURSOR  

2. CH1
 

3. Y1 VARIABLE  

Vp.p

VMax Vrms

Vp.p

X ↔ Y
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4. Y2 VARIABLE  

5. Y1 Y2  
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(c)  

TDS 2022 

1. MEASURE MEASURE  

2. CH1

CH1  

3.  

4. CH1
MEASURE  

5.  

6.

GDS 1152A-U 

1. MEASURE MEASURE  

2.

 

3. 3
VARIABLE ( )  

4. MEASURE  

5.  

(d)  

1.  

2.  

B.  

(a)  

1.  

2. /  TIME/DIV ( )  

3. T = / TIME/DIV  

Vp.p

VMax Vrms

Vp.p

VMax Vrms

Vp.p

Vp.p

VMax Vrms

Vrms

VMax Vp.p

×
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4.  

(b)  

TDS 2022 

1. CURSOR CURSOR  

2. CH1  

[ ] 1 2  

3. CH1 CH2  

4.  | | T  
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CH1 CH1  
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f

f

X ↔ Y

f
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GDS 1152A-U 

1. MEASURE MEASURE  

2. T f
 

3. 3
VARIABLE (Period) (Frequency)

 

4. MEASURE  

5. T f  

C.  

1. BNC-BNC  (1 m 60 m)  

2. T BNC-BNC T
CH1 CH2  

3. 1.0 MHz  

4.  

5. ( ) 

=  

6. 1.0 ~ 2.2 MHz 0.3 MHz  

D.  

1. BNC-BNC  

2. CH1 CH2  

TDS 2022 

1. CH1 CH2 / 5V/ ( ) 

2. DISPLAY DISPLAY XY  (
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v Δd
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ν
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GDS 1152A-U 
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